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RV 72 NP2 IRYIR OPINY
And we place the field in the presumptive possession of X>uvw =2

OVERVIEW

WX 17 ruled that if a X*0w 72 (who was alternately lucid and deranged) sold a
field when his metal health status could not be determined (it was >0 >7n),
the sale 1s void. The land returns to the Xv¥ 92 since he is (certainly) the
original owner, even though the buyer is currently occupying the field.

mooin qualifies this ruling of *wX 17
- Zmnmn NPINA NNT 199N PHVIVNI HAN 91 )9P9INRT NIN YPIPa NPT

It is only specifically concerning land (real estate) that we rule thus; that
the presumptive original owner (not the present owner) retains possession,
however, concerning movable assets, we rule that they are considered

presumptively owned by the actual possessor; not by the original owner (as in
the case of X°vw 72), but rather by whoever is presently in possession of the items in
question —
= 99913 199 9P9NNN 223 (x,p 97 xw¥n xaz) INIVA PI92 9INTD
As the X nx states in YXw;7 po2 concerning the case of ‘one who
exchanged a cow for a donkey’. The cow gave birth during the transaction and we
are not certain whether it was before the transaction (whereby the calf belongs to the
original 795771 %¥2) or it was after the transaction (whereby the calf belongs to the original
1 5v3).* The xma there comments —
= TN 1D 195201 NI TN MNP R1IDP INNT RNV 199 1N
And let us see in whose domain the 199 and the calf are to be found;
whether it is in the domain of the 7797 Y2 or the Mnn H¥3, and let the
other party in whose mwn the 779 (and the calf) was not found be
considered as one who attempts to extract money from his friend, and the
ruling is that it is incumbent on the XX to prove his claim. The one in whose
mwa the 79 was found should retain the 791, unless his adversary can prove that it

belongs to him; i.e. he brings witnesses as to when the calf was born.
- “DaNa NPT YN

" In our nm3 the X073 is NPIna Xam *P). See the marginal notes on the X3,

% mooin is (perhaps) distinguishing between the expression 7% NP2 X1n PR (which refers to the current
P1mn) regarding the "W and X*0W 72 NPT X111 Pk (which refers to the p"n).

? See previous X111 PR 11" M20IN (footnotes # 12-14).

* See “Thinking it over’ # 3.
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And the X773 there answers that the cow was standing in a swamp; in a
place that belongs neither to the 71977 %¥a nor to the i 9v2. There is no prma. It is
evident from that X713 that if the 775 was found on the property of the original M %v3,
then the calf (and the 715) would belong to the original "nn %¥3, even though the X9
Xnp was the 711977 %2, This proves that concerning P2v%vn we do not award ownership (in
the case of a po0) to the Xnp X7, but rather to the current p1mn.

mooIn anticipates a (different) difficulty and resolves it.
- 913919 7Y Y NINT PHYS 19539 N
The %''9 says that it is not applicable to say here in our X3 -
= 52,307 xna xa2) Y 33320 (3,08 97 PYITP 9ID3 1329NTD
that which the X713 states in the end of w7 noon and in n»w s» poo;
namely —
= 1191 N9V 189 NYANY 05y NIN Y919 259V ON
If the benefactor is currently a yo%» 25w it is incumbent upon them (the

recipients) to prove that he was healthy then when he wrote the mnn “vw, and
only then can they receive the gift. Otherwise we assume that since he is currently a 2°0Ww

¥, he was also a ¥y 22w at the time of gifting, and therefore he may retract his gift —

=15 NI N92 ON)
And if the benefactor is currently healthy, etc. then the benefactor must prove
that he was a ¥y 2Dw at the time of gifting (and may retract the gift); otherwise it
remains in the possession of the recipients. It is evident from that X723 that the status of
the benefactor at the time of (the writing of) the "vw is determined by his current status.
Seemingly here too by the X*vw 72 his status at the time of writing the 777721 0w should
be determined by his current status; whether he is currently 2°217 (the sale should be valid)
or whether he is currently a 70w (and the sale is void). Why is it that by the Xvw 72 we
follow the X»np &7 NP1 of ownership and by the yan 2°5w we follow the current health
status?!

MooIN answers that our case is different than the case of the yan 200w
$PVWAY NINY N1 NINY PPN NIV DN YN DINYT )15 XINT NIVY 924

For the ®*vw 92 whom we are discussing here, since at times he is lucid
and at other times he is deranged; there is no consistency in his status; it

> The mawn there (X,3p) discusses a gift document (71nn TwW) that did not indicate whether the benefactor
was healthy (X2) or seriously ill (¥7n 2°2w) at the time the 7in»n VW was written [it was customary to
indicate the health status of the benefactor] . A ¥ 2°5w may retract all gifts that he wrote while he was a
¥ 20w (while he is still alive). A X712 however can (obviously) not retract any gifts given while he was a
X°72. The benefactor and the recipients were arguing whether the benefactor was a X312 or a ¥7n 2°5® when
he made this gift.

2
TosfosInEnglish



RYIR PRI 7"7 '0I10 X,0 M2nd .7"02

varies continuously, therefore there is mo proof from whatever he is

presently as to how he was previously, at the time of the sale. Normally, we can
depend on the status quo; we assume whatever he is now this is how he was previously.
However the X0w 72 is always in a state of flux; we cannot derive anything from his
current status.

SUMMARY

In a P90 concerning ¥p7p we award it to the X»p Xn; in a PHO concerning
1oubun we award it to the current prmn.

A Xnwa7 AP s not valid when the status of the item in question fluctuates.

THINKING IT OVER

1. Why is the ruling by 1%v%un different than by ypap? Why is a ¥papa poo
awarded to the Rnp X and not the current prmn; and by Phuhun it is
awarded to the current P11 and not to the Xnp X1 ?!

2. Why does not nmo1n prove his contention (that there is a difference
between Ypp and Povoun) from our X3 of 191 1°77 @°01R. Here it is *m *n
and the monies remain by the current P17 (and not by the Xnp Xn)?

3. Why was it necessary for oo to cite the answer a2 Xn»p7?°
Seemingly mooIn can prove that by 1°20%vn we award it to the current prmn,
from that which the X3 says 7"V T7°K 2121 RPP IRDT RMWD2 17712

4. What connection is there (if any) between n1901n original differentiation
between Yp1p and 1°7uvn, and the latter distinction between the ¥77 275w and
the X°vw 12?

® See footnote # 3.
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